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'7(I5)cm + 5m2cm = bm77cm (IIIZ)m6Ocm — 10cm= |2m50cm
I%)mQOcm — 30cm = |Om60cm (4|r2r33'7cm + 3m = Tm37cm
'7(?r)quCm + 5m = 12m92cm gg)cm + 10mb6cm= 10m89cm
éé;r)l + 10m89cm = I5m38Y9cm 2?:22cm — Im = 3m22cm
5(?21'75cm + 2lcm = bmY96cm 57Ir5n)20<:m — 7m = 2m20cm
I((E%)m35cm + |l lcm = |3m46cm (étlfn)ZOcm — 10cm = 4m[0Ocm
'7(Zr>180cm — Im = 6m30cm (6|r7n)8‘7cm — 30cm = 6mbY9cm
2(80)cm +4m10cm = 4m30cm (Ilg)métOcm —7m = 3m40cm
I(q5)m'76cm —9m = 6m76cm (BI:ri + 6m76cm = dm76cm
(Illot)m42cm —3cm = |4m3Y9cm Z?ri'70cm + 10cm = 4m80cm
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